



PHYTOSANITARY CERTIFICATE

No. PC-1355V6H328E3TH

				
FROM: Plant Protection Organization of	TO: Plant Protection Organization(s) of			
Uganda	United States of America (the)			
I. DESCRIPTION OF CONSIGNMENT				
lame and Address of Exporter Declared Name and Address of Consignee				
AFRO DIVINE STOCK LTD	OSWINE IMPORT AND EXPORT LLC			
Kitala Entebbe P.O box 161279 Entebbe Central 161279	4312 Burdette St Omaha, NE 68111 Tel: +140-804-9568 Email			
Uganda	Oswineg@yahoo.com United States of America (the)			
Declared Means of Conveyance	Declared Point of Entry			
Multimodal transport	United States of America (US)			
Distinguishing Marks				
Afro Divine Stock Ltd				
II. COMM	ODITIES			
1 Name of Produce and Quantity	Place of Origin			
Description of the Commodity: 113 Boxes each weighing 12 Kgs; Plant Part:cobs; Intended Use:consumption; Condition:Cooked and frozen; Net Weight: 1356 kg;	kayunga District-Uganda			
Number and Description of Packages				
113 Boxes of Cooked Frozen Maize				
Distinguishing Marks				
Afro Divine Stock Ltd				
ADDITIONAL DECLARATION				
The consignment was inspected and found free from Fall Army Worm	n, FAW, Spodoptera frugiperda			
Additional Information				
Import Permit Number: N/A	Date of 06-07-2025 00:00 Inspection:			
2 Name of Produce and Quantity	Place of Origin			
Dotanical Name/Common Name: Phaseolus vulgaris/Frozen Beans, Description of the Commodity: 176 Boxes each weighing 12 Kgs; Plant Part: beans; Intended Use: consumption; Condition: frozen; Net Weight: 2112 kg;	kayunga District-Uganda			
Number and Description of Packages				
176 Boxes of Frozen beans				
Distinguishing Marks				
Afro Divine Stock Ltd				
ADDITIONAL DECLARATION				
The consignment was inspected and found free from bean fly, bean b	pruchids and other quarantine insects and fungal pests			

Place of Issue Entebbe Name of authorized Erisa Mukwaba



Date: 06-07-2025

Signature:







PHYTOSANITARY CERTIFICATE

No. PC-1355V6H328E3TH

	1105AMTAKT CERTIFICATE		
Add	litional Information		
lmp	ort Permit Number: N/A	Date of Inspection:	06-07-2025 00:00
3	Name of Produce and Quantity	Place of Origin	
Desc Part:	nical Name/Common Name: Pisum sativum/Frozen Garden Peas, ription of the Commodity : 75 Boxes each weighing 12 Kgs; Plant beans; Intended Use: consumption; Condition: frozen; Weight : 900 kg;	Kabale District-Uganda	
	nber and Description of Packages	•	
75 k	oxes of frozen peas		
Dist	tinguishing Marks		
Afro	Divine Stock Ltd		
ADI	DITIONAL DECLARATION		
	consignment was inspected and found free from bean fly, bear consignment was inspected and found free from quarantine pe		s and fungal pests
Add	litional Information		
lmp	ort Permit Number: N/A	Date of Inspection:	06-07-2025 00:00
4	Name of Produce and Quantity	Place of Origin	
Desc Part:	nical Name/Common Name: <i>Manihot esculenta</i> /Frozen Cassava, ription of the Commodity : 253 Boxes each weighing 12 Kgs; Plant tubers; Intended Use:consumption; Condition:frozen; Weight : 3036 kg;	Pallisa District-Uganda	
Nur	nber and Description of Packages		
253	boxes of frozen cassava		
Dist	inguishing Marks		
Afro	Divine Stock Ltd		
ADI	DITIONAL DECLARATION		
The	consignment was inspected and found free from Cassava mite	s, Cassava brown streak virus sympton	ns and fungal moulds
ADI	DITIONAL OFFICIAL PHYTOSANITARY INFORMATION		
Palli	sa District is the origin of Cassava root tubers		
Add	litional Information		
lmp	ort Permit Number: N/A	Date of Inspection:	06-07-2025 00:00
5	Name of Produce and Quantity	Place of Origin	
Desc Part:	nical Name/Common Name: Ipomoea batatas/Frozen Sweet potatoes, ription of the Commodity : 640 Boxes each weighing 12 Kgs; Plant tubers; Intended Use: consumption; Condition: frozen; Weight : 7680 kg;	Pallisa District-Uganda	
	nber and Description of Packages	•	
640	boxes of frozen sweet potatoes		

Place of Issue Entebbe Name of authorized Erisa Mukwaba



Date: 06-07-2025

Signature:







PHYTOSANITARY CERTIFICATE

No. PC-1355V6H328E3TH

PHYTOSANITARY CERTIFICATE		No. PC-1355V6H328
Distinguishing Marks		
Afro Divine Stock Ltd		
ADDITIONAL DECLARATION		
The consignment was inspected and found free from Sweetpotato w	eevils, Cylas spp	
ADDITIONAL OFFICIAL PHYTOSANITARY INFORMATION		
Pallisa district is the origin of sweetpotato root tubers		
Additional Information		
Import Permit Number: N/A	Date of Inspection:	06-07-2025 00:00
6 Name of Produce and Quantity	Place of Origin	
Botanical Name/Common Name: Solanum aethiopicum/Frozen garden eggs, Description of the Commodity : 52 Boxes each weighing 10 Kgs; Plant Part: fruits; Intended Use: consumption; Condition: frozen; Net Weight : 520 kg;	Mpigi district-Uganda	
Number and Description of Packages		
52 boxes of Frozen Garden eggs		
Distinguishing Marks		
Afro Divine Stock Ltd		
ADDITIONAL DECLARATION		
The consignment was inspected and found free from Garden eggs fr	uit borers and fruit flies	
ADDITIONAL OFFICIAL PHYTOSANITARY INFORMATION		
The place of production is Mpigi district of Uganda		
Additional Information		
Import Permit Number: N/A	Date of Inspection:	06-07-2025 00:00
7 Name of Produce and Quantity	Place of Origin	
Botanical Name/Common Name: Manihot esculenta/Frozen Cassava Leaves (Isombe), Description of the Commodity: 134 Boxes each weighing 12 Kgs; Plant Part: Leaves; Intended Use: consumption; Condition: frozen; Net Weight: 1608 kg;	Pallisa District-Uganda	
Number and Description of Packages		
134 boxes of frozen cassava leaves		
Distinguishing Marks		
Afro Divine Stock Ltd		
ADDITIONAL DECLARATION		
The consignment was inspected and found free from Cassava mites,	Cassava brown streak virus symptoms	and fungal moulds
Additional Information		
	Date of	06-07-2025 00:00

Place of Issue Entebbe Name of authorized Erisa Mukwaba



Date: 06-07-2025

Signature:







PHYTOSANITARY CERTIFICATE

No. PC-1355V6H328E3TH

PHYTOSANITARY CERTIFICATE		NO. PC-1355V6H326E
8 Name of Produce and Quantity	Place of Origin	
Botanical Name/Common Name: Amaranthus spp/Frozen Green Amaranthus Leaves, Description of the Commodity: 121 Boxes each weighing 10 Kgs; Plant Part: Leaves; Intended Use: consumption; Condition: frozen; Net Weight: 1210 kg;	Pallisa District-Uganda	
Number and Description of Packages		
121 boxes of frozen green Amaranthus spp leaves		
Distinguishing Marks		
Afro Divine Stock Ltd		
ADDITIONAL DECLARATION		
The consignment was inspected and found free from visible Quarant	ine pests	
Additional Information		
Import Permit Number: N/A	Date of Inspection:	06-07-2025 00:00
9 Name of Produce and Quantity	Place of Origin	
Botanical Name/Common Name: Cleome spp/Frozen Spider plant, Description of the Commodity: 32 Boxes each weighing 10 Kgs; Plant Part:Leaves; Intended Use:consumption; Condition:frozen; Net Weight: 320 kg;	Pallisa District-Uganda	
Number and Description of Packages		
32 boxes of frozen Spider Plant		
Distinguishing Marks		
Afro Divine Stock Ltd		
ADDITIONAL DECLARATION		
The consignment was inspected and found free from visible Quarant	ine pests	
Additional Information		
Import Permit Number: N/A	Date of Inspection:	06-07-2025 00:00
10 Name of Produce and Quantity	Place of Origin	
Botanical Name/Common Name: Solanum anguivi/Frozen Bitter Berries, Description of the Commodity : 49 Boxes each weighing 12 Kgs; Plant Part: fruits; Intended Use: consumption; Condition: frozen; Net Weight : 588 kg;	Pallisa District-Uganda	
Number and Description of Packages		
49 boxes of frozen Bitter berries fruits		
Distinguishing Marks		
Afro Divine Stock Ltd		
ADDITIONAL DECLARATION		
The consignment was inspected and found free from visible Quarant	ine pests	

Place of Issue Entebbe

Name of authorized Erisa Mukwaba



Date: 06-07-2025

Signature:







PHYTOSANITARY CERTIFICATE

No. PC-1355V6H328E3TH

Add	Additional Information			
Imp	ort Permit Number: N/A		Date of Inspection:	06-07-2025 00:00
11	Name of Produce and Quantity	Place of Origin		
Desc Part:l	rical Name/Common Name: Cucurbita spp/Frozen Pumpkin Leaves, ription of the Commodity : 08 Boxes each weighing 12 Kgs; Plant Leaves; Intended Use: consumption; Condition: frozen; Veight : 96 kg;	Pallisa District-Uganda	1	
Nun	nber and Description of Packages			
08 b	oxes of frozen Pumpkin Leaves			
Dist	inguishing Marks			
Afro	Divine Stock Ltd			
ADD	ITIONAL DECLARATION			
The	consignment was inspected and found free from visible Quarant	ine pests		
Add	itional Information			
Imp	ort Permit Number: N/A		Date of Inspection:	06-07-2025 00:00
12	Name of Produce and Quantity	Place of Origin		
Pulp, Part:	Dical Name/Common Name: passiflora edulis/Frozen passion fruit juice Description of the Commodity: 02 Boxes each weighing 12 Kgs; Plant fruits pulp; Intended Use: consumption; Condition: frozen; Veight: 24 kg;	Pallisa District-Uganda	1	
Nun	nber and Description of Packages			
02 b	oxes of frozen Passion fruit pulp			
Dist	inguishing Marks			
Afro	Divine Stock Ltd			
ADD	ITIONAL DECLARATION			
The	consignment was inspected and found free from visible Quarant	ine pests		
Additional Information				
Imp	ort Permit Number: N/A		Date of Inspection:	06-07-2025 00:00
13	Name of Produce and Quantity	Place of Origin		
Desc Part:	tanical Name/Common Name: Xanthosoma sagittifolium/Frozen Yams, scription of the Commodity : 426 Boxes each weighing 12 Kgs; Plant t:corms; Intended Use:consumption; Condition:frozen; t Weight : 5112 kg;			
Number and Description of Packages				
426 boxes of frozen Yams				
Distinguishing Marks				
Afro	Divine Stock Ltd			

Place of Issue Entebbe

Name of authorized Erisa Mukwaba



Date: 06-07-2025 Sign

Signature:





PHYTOSANITARY CERTIFICATE

No. PC-1355V6H328E3TH

ADDITIONAL DECLARATION			
The consignment was inspected and found free from visible Quarantine pests			
Additional Information			
Import Permit Number: N/A	Date of Inspection:	06-07-2025 00:00	

This is to certify that the plants, plant product or other regulated articles described herein have been inspected and/or tested according to appropriate official procedures and are considered to be free from the quarantine pests, specified by the importing contracting party and to conform with the current phytosanitary requirements of the importing contracting party including those for regulated non-quarantine pests.

Place of Issue Entebbe

Name of authorized Erisa Mukwaba



Date: 06-07-2025

Signature:

2M :